Tree Diagrams

Independents events: replacement. When one-step does not affect the other.

INDEPENDENT EVENTS: 3
Daniel has ten coloured marbles in a bag. Three of the marbles are red and 7_are blue.
He removes a marble at random from the bag and notes the colour before reelacmg it.

He then chooses a second marble at random.
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b) Calculate the probability of him selecting both red marbles
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a) Record the information in a tree diagram.

c) Calculate the probability of him selecting a red marble followed by a blue marble.
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d) Calculate the probability of him selectlng different colour marbles.
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Dependent events: occurs when the first step affects the other steps. No replacement.

£

Dante has ten coloured marbles in a bag. Theae.of the marbles are red and 7 are blue.
He removes a marble at random from the bag, notes the colour and DOES'NOT replace
it. He then chooses a second marble at random. - —

a) Record the information in a tree diagram. ' 2
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b) Calculate the probability of him selecting both red marbles
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c) Calculate the probability of him selecting a red marble followed by a blue marble.
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d) Calculate the probability of him selecting different colour marbles.
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